* %

Addieren

Aufgabe 1 Aufgabe 2

1. 3373 + 1861 = 1. 2484 + 2132 =
2. 3620 + 2220 = 2. 2909 + 2009 =
3. 1795 + 1404 = 3. 2012 + 1700 =
4. 3201 + 1813 = 4. 4076 + 2278 =
5 2787 + 1291 = 5 4868 + 1239 =
6. 4881 + 1638 = 6. 3804 + 2693 =
7. 4671 + 3563 = 7. 1124 + 1054 =
8. 2045 + 1050 = 8. 4575 + 1467 =
9. 486F + 3445 = 9. 2870 + 2069 =
0. 1312 + 1212 = 10, 1981 + 1368 =
Aufgabe 3 Aufgabe 4

1. 3314 + 2708 = T 1361 + 1249 =
2. 4550 + 1942 = 2. 1977 + 1043 =
3. 4746 + 2664 = 3. 1439 + 1059 =
4. 3054 + 1163 = 4. 4368 + 2459 =
5 4508 + 1030 = 5 4450 + 4362 =
6. 2225 + 1138 = 6. 3278 + 2743 =
7. 3366 + 3264 = 7. 4321 + 3523 =
8. 4035 + 2153 = 8. 2343 + 1503 =
9. 2637 + 1938 = 9. 4169 + 2348 =
0. 3129 + 2255 = 10. 2854 + 2232 =
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* %

Addieren

Aufgabe 1 Aufgabe 2

1. 3373 + 1861 = 5 234 1. 2484 + 2132 = 4616
2. 3620 + 2220 = 5 840 2. 2909 + 2009 = 4918
3. 1795 + 1404 = 3199 3. 2012 + 1700 = 3712
4. 3201 + 1813 = 5014 4. 4076 + 2278 = 6 354
5 2787 + 1291 = 4 078 5 4868 + 1239 = 6 107
6. 4881 + 1638 = 6 519 6. 3804 + 2693 = 6 497
7. 4671 + 3563 = 8 234 7. 1124 + 1054 = 2 178
8. 2045 + 1050 = 3095 8. 4575 + 1467 = 6 042
9. 4867 + 3445 = 8 312 9. 2870 + 2069 = 4 939
0. 1312 + 1212 = 2 524 0. 1981 + 1368 = 3 349
Aufgabe 3 Aufgabe 4

1. 3314 + 2708 = 6 022 T 1361 + 1249 = 2 610
2. 4550 + 1942 = 6 492 2. 1977 + 1043 = 3020
3. 4746 + 2664 = 7 410 3. 1439 + 1059 = 2 498
4. 3054 + 1163 = 4 217 4. 4368 + 2459 = 6 827
5 4508 + 1030 = 5538 5 4450 + 4362 = 8 812
6. 2225 + 1138 = 3363 6. 3278 + 2743 = 6 021
7. 3366 + 3264 = 6 630 7. 4321 + 3523 = 7 844
8 4035 + 2153 = 6 188 8. 2343 + 1503 = 3 846
9. 2637 + 1938 = 4 575 9. 4169 + 2348 = 6 517
0. 3129 + 2255 = 5 384 10. 2854 + 2232 = 5 086
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